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Jor the questions

Answer either in English or in Assamese

1. Fill in the blanks/Answer the following : 1x7=7

TS fraPigRs Al 9% 4 <51/ Tee -

is the most frequently occurring
score in a distribution.

<G Reme T mERfe @R i
L

(a)
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E25)

(b} Mid-value of the distance between 25th

()

(d)

(e)

AT7/98

percentile and 75th percentile is known
as

e XS R T 20wy W R wrew
R TR g e A

The curve that is more peaked than
normal probability curve is a
curve.

PR IFOE S8 (G 99 (208 qa |

When increase and decrease of two
variables tend to move together in the
same direction, then the correlation
between the variables is called
correlation.

@R 7l erReq R S
b e % 901, cofemr o B e
T e &

Find the combined mean of two samples
of sizes 6 and 4 respectively, whose
means are 15 and 25,

T 6 T 4 SR T 15 HE 25 G-
‘ZBT 1 i iﬁ?ﬂ@%ﬁc@wl

( Continued )

(3 )

arl Pearson’s formula for finding

Write K .
4 out coefficient of correlation.
7e{ PorEvs TR 8K fovefer Bt ford |
45. Find

al distribution mean =

Cisededn an and mode.

out the value of medi

a5 e [{odd oG = 45, TWA T AF

Fezre T 91 |
i i : 2%4=8
2. Answer the following questions : .
e 2T e o
i i does it differ from
(a) What is an ogive? How e < s

a cumulative frequency

wfre o Tl qEITS I s 3w

2% 7
(b) Write two advantages of central tendency. 2
B AN o1 R
i tile rank?
jcj What 18 meant by percen e

Explain with example.

i T 3 T e 7 T oo A 4
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] ( 5)
ied
; should be accompan
(d] What is range? Mention two uses of {c) “Central tendency iability, for significant
range as measure of variability. 1+1=0 | byfaimeastite O,f v? cuss the statement
interpretation.” Dis 5
PR 2 Rpfes ey ROt 2Pt 751 2 Fl -
= with examp
TE |
ol PR A P O (T
H OIS TRAA RIS ” YA
3. Answer any three of the following questions : =96 ﬁgﬁ:—,q T A 1”7 R
5x3=15 | e 0 79 |
O TR R e Rl o forey -
o D
@) What is a frequency distribution? Pojnt is a normal probability curve.-
out its two uses, Explain the process of (o Whts distinctive features of this
Preparing a frequency distribution table State the =
indicating the choices of the number of curve.
classes and width of class interval. 4 TR Tead 4 |
1+2+2=5 2T T 8 2 2 el
IR e & 7 S o1 TR S )
G SEH Ry W SFIT o roperties of mean as a
MR Tme R e e efer fe); Meatlon thrfee Czntfal tendency. In a
: aife < measure o o N =50
AFSF9Y sifar IR 97 | distribution AM = 37, tEfJ:ne—ai& fa s
. » . . . : i u =
(6) Explain the skewness of g distribution on and i=5. Find o 340=5
the basis of the reiationship between distribution.
nean, median and mode, Fing skewness, oo awd TR
if Mean = 25, Median = 45 anq sp () = 8. @EE RN (A AN 57
=5 i e ’
3+2=5 g TEy T e e
- i=5. 4 '
T IR e oS, e wee REGs e Sfx =285 50 WIF
WW%@WWW|W%=2S,={W=45 foref =1 |
I SD (o) = 8 =, fywer iy Xl ( Turn Over )
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(6) v
Or / 9331
4. Explain the usability of median as g measure s
0
of central tendency. Find out median from the What is histogram? Draw a his game
S
following distribution table : 4+6=10 d a frequency polygon on th: e
an : Wt able :
R 2O o RO 4 St e e | axis from the following distribution tBb2
T FROIe SR ot e ety oy e oo
‘ opefiy f7 oW RemR ©
Class Int SRy S @B TEFES] T2
erval Frequency FREAICS WOl SESbE
T e IR W)
65-69 1
Class Interval hreqiency
60-64 1 = AT
55-59 3 4
50-54
50-54 4 ;
45-49
45-49 6 5
. 40-44
40-44 {7 5
35-39 12 35-39
W 5- _
i . 4
30-34 6 30-34
' 3
25-29 8 25-29
2
20-24 2 20-24
N =50 N =35
( Turn Over )
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( 8)

5. UI‘ hat 18 L .
g

distribution :
T i &9y oo w1 sifer o i
T RV T Rpfs ity v o
Class Intervai Frequency
1 T 4 IRTTS
90-94 4
85-89 6
80-84 S
75-79 10
70-74 12
65-69 8
60-64 i
55-59 S
50-54 6
N =60

A7/98
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(92)

Or / S%41

Ten competitors in a essay competition are

ranked by three judges in the following order :

G4 45+ Ao W dfewn fefe Ko
were {qa =ed ' e

IstJudge o 1 B 4B G\ s6e 10T 3 2

(Zi<r [519F)

ndJudge . 4 8 7 6 5 9
(faly o)
3rd Judge . 6 7 8
(2 o)

Use the rank-correlation coefficient to discuss

which pair of judges has nearest approach in
6+4=10

LTORSEE DN

S S SR ORI

their judgement.

e SETFEE BT 2l IR W 7o [{EReT qree
Wt firer wiicR, e <

6. What is the relationship between percentile
point and percentile rank? Calculate Py and
P;e from the distribution below. Find out

quartile deviation from these values
otSeato=10
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( 10 ) '
(11 )

oA 7 W et

X T TSR ok

IR Rl Pys W Pg Sfiieq | @ 7 wom SISHERS ﬁﬂsq{@mvﬁmﬁmwm
DRE RpifS et 1 - i RS 75 we o Fpe xR 15 M G

87 10%ACEWW\‘3WW GrEAE oS

Class I
Sa; nterval Freicios 5% 3 F (IS TS I CIE A (2TT TS T
A IR I Fcared I s e 292
80-89
4

70~79 (b) A student secures 79 marks in an
& examination in sociology for which his
class mean is 54 and standard deviation

60-69
50-59 lj is 20. I—_Ie secures 76 marks 11"1 statistics
for which his class mean 18 50 and
F0=40 12 standard deviation is 12. What can we
30-39 = say about the performance of the
S0y | stude.nt 'with reference 1o these two
8 examinations? 2+2+1=5
e 2 ﬂWE@W@WW?QWO{W
N =50, ! ﬂ’@@ﬁawmmﬁﬁmwmﬁ@%
fest 20. (9% oy R = R 76
Or / &4a7 1o iR o T 50 wF W [P
afem 12. <& @l RS RS TS
(@ and b both) g st Wi o T ol ?
(a == bm)
* K X

(@) A set of i
- set examination marks i

Sérstrlbuted with a means ;? I;‘erauy
Stzr;dard deviation of 15, If to % 208
: : ; 0,
gradenlf‘s f’:ﬁf akclie A and bottom 21?5%1 gi
; en what mark is t 3 &
and what mark is the highc“flte[f}:OWCSt .

2+3:5
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